

Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

Line No / Ite Item Descrip			(1) ASPHAL SYSTEM		(2) SOUTH	STATE INC		
Alt Set / Alt	Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	t Set:	Cat Alt Member:			
0001 151	1006M	1.000	24,250.00000	24,250.00	25,000.00000	25,000.00		
PERFORMANO PAYMENT BO	CE BOND AND	DOLL						
0002 154	1003P	(1)	30,000.00000	30,000.00	30,000.00000	30,000.00		
MOBILIZATION	N	LS						
0003 157	7004M	1.000	70,000.00000	70,000.00	100.00000	100.00		
CONSTRUCTI	ION LAYOUT	DOLL						
0004 158	3030M	67.000	20.00000	1,340.00	0.01000	0.67		
INLET FILTER	TYPE 2, 2' X 4'	U						
0005 158	3033M	220.000	20.00000	4,400.00	0.01000	2.20		
INLET FILTER	TYPE 2, 4' X 4'	U						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	o / Item ID escription		(1) ASPHAL SYSTEM		(2) SOUTH STATE INC			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat Alt Member:			
0006	158072M	2.000	300.00000	600.00	100.00000	200.00		
OIL ONL'	Y EMERGENCY SPI	ILL KIT, U						
0007	159003M	60.000	50.00000	3,000.00	1.00000	60.00		
BREAKA	WAY BARRICADE	U						
8000	159006M	100.000	40.00000	4,000.00	1.00000	100.00		
DRUM		U						
0009	159009M	500.000	25.00000	12,500.00	1.00000	500.00		
TRAFFIC	CONE	U						
0010	159012M	1,000.000	12.00000	12,000.00	9.00000	9,000.00		
CONSTR	UCTION SIGNS	SF						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 **District(s):** S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

Line No / Item ID Item Description		(1) ASPHAL SYSTEM		(2) SOUTH STATE INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011 159027M	6.000	600.00000	3,600.00	100.00000	600.00		
FLASHING ARROW BOARD	, 4' X 8' U						
0012 159030M	8.000	3,000.00000	24,000.00	3,000.00000	24,000.00		
PORTABLE VARIABLE MES	SAGE U						
0013 159108M	8.000	1,000.00000	8,000.00	100.00000	800.00		
TRAFFIC CONTROL TRUCK MOUNTED CRASH CUSHIO	_						
0014 159126M	679,243.000	0.13000	88,301.59	0.01000	6,792.43		
TEMPORARY TRAFFIC STR 4"	RIPES, LF						
0015 159141M	200.000	85.00000	17,000.00	90.00000	18,000.00		
TRAFFIC DIRECTOR, FLAG	GER HOUR						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM		(2) SOUTH STATE INC			
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	Set:	Cat A	It Member:		
0016	159144M	1.000	1,000.00000	1,000.00	1.00000	1.00		
EMERGI	ENCY TOWING SERVIC	E U						
0017	160004M	1.000	3,700.00000	3,700.00	3,700.00000	3,700.00		
FUEL PF	RICE ADJUSTMENT	DOLL						
0018	160007M	1.000	10,800.00000	10,800.00	10,800.00000	10,800.00		
ASPHAL	T PRICE ADJUSTMENT	Γ DOLL						
0019	201003P	(1)	262,500.00000	262,500.00	50,000.00000	50,000.00		
CLEARIN	NG SITE	LS						
0020	MMR087M	30,272.000	6.00000	181,632.00	4.50000	136,224.00		
MICROM	IILLING	SY						
0021	401009P	78,217.000	6.00000	469,302.00	3.50000	273,759.50		
HMA MIL	LING, 3" OR LESS	SY						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	Line No / Item ID Item Description			ALT PAVING (2) SO EMS INC		(2) SOUTH STATE INC		
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 Roadway		Roadway	Cat Alt Set:		t Set:	Cat Alt Member:		
0022	401021M	1,527.000	57.00000	87,039.00	60.00000	91,620.00		
HOT MIX	(ASPHALT PAVEMEN	T SY						
0023	401027M	43,350.000	0.25000	10,837.50	1.00000	43,350.00		
POLYME	RIZED JOINT ADHESI	IVE LF						
0024	401030M	39,339.000	3.15000	123,917.85	4.50000	177,025.50		
TACK CO	DAT	GAL						
0025	401060M	11,215.000	92.00000	1,031,780.00	95.00000	1,065,425.00		
_	ASPHALT 12.5 M 76 E COURSE	Т						
0026	421003M	5,744.000	80.00000	459,520.00	145.00000	832,880.00		
MICRO-S TYPE II	SURFACING AGGREG	ATE, T						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	lo / Item ID escription		(1) ASPHAL SYSTEM		(2) SOUTH STATE INC			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0027	421005M	160,841.000	7.20000	1,158,055.20	15.00000	2,412,615.00		
MICRO-S	SURFACING EMULSION	ON GAL						
0028	422003M	17,230.000	7.50000	129,225.00	15.00000	258,450.00		
FOG SE	AL SURFACE TREATM	MENT GAL						
0029	602105M	2.000	400.00000	800.00	1,600.00000	3,200.00		
SET INL	ET TYPE B, CASTING	U						
0030	602108M	4.000	400.00000	1,600.00	1,700.00000	6,800.00		
SET INL	ET TYPE E, CASTING	U						
0031	602153M	10.000	2,500.00000	25,000.00	3,000.00000	30,000.00		
	STRUCTED INLET, TY IEW CASTING	PE B, U						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM		(2) SOUTH S	STATE INC		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	t Set:	Cat Alt Member:			
0032	602210M	63.000	350.00000	22,050.00	500.00000	31,500.00		
BICYCLE	SAFE GRATE	U						
0033	602213M	23.000	350.00000	8,050.00	500.00000	11,500.00		
CURB PI	ECE	U						
0034	602214M	56.000	200.00000	11,200.00	500.00000	28,000.00		
INLET FA	ACE PLATE	U						
0035	602216M	6.000	500.00000	3,000.00	300.00000	1,800.00		
CLEANIN STRUCT	IG DRAINAGE URE	U						
0036	MMR101M	145.000	75.00000	10,875.00	150.00000	21,750.00		
STORM I	DRAIN MARKERS	U						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 **District(s):** S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

Line No / I			(1) ASPHAL SYSTE		(2) SOUTH STATE INC			
Alt Set / A	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0037 60	07018P	100.000	50.00000	5,000.00	100.00000	10,000.00		
9" X 16" CON CURB	NCRETE VERTICAL	. LF						
0038 6	10003M	7,272.000	0.30000	2,181.60	0.32000	2,327.04		
TRAFFIC ST EPOXY RES	RIPES, LONG LIFE IN 4"	, LF						
0039 6	10006M	332,350.000	0.40000	132,940.00	0.42000	139,587.00		
TRAFFIC ST EPOXY RES	RIPES, LONG LIFE IN 6"	, LF						
0040 6	10009M	8,868.000	2.25000	19,953.00	2.40000	21,283.20		
TRAFFIC MA	,	SF						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0041	MMR081M	5,876.000	2.00000	11,752.00	2.25000	13,221.00		
	C MARKINGS, LINES, DPLASTIC	, LF						
0042	610012M	450.000	28.00000	12,600.00	31.00000	13,950.00		
RPM, MO	ONO-DIRECTIONAL,	WHITE U						
0043	610018M	450.000	28.00000	12,600.00	31.00000	13,950.00		
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0044	610024M	450.000	10.00000	4,500.00	30.00000	13,500.00		
REMOV	AL OF RPM	U						
0045	610027M	4,425.000	10.50000	46,462.50	10.00000	44,250.00		
REMOVA RPM LE	AL AND REPLACEME NS	ENT OF U						

Page: 10



Tabulation of Bids

Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	o / Item ID escription		(1) ASPHAL SYSTEM		(2) SOUTH S	STATE INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0046	610036M	332,350.000	0.35000	116,322.50	0.37000	122,969.50		
REMOVA	AL OF TRAFFIC STRIP	PES LF						
0047	610039M	8,868.000	1.75000	15,519.00	2.00000	17,736.00		
REMOVA	AL OF TRAFFIC MARK	INGS SF						
0048	MMR067M	5,876.000	1.75000	10,283.00	2.00000	11,752.00		
_	AL OF TRAFFIC GS, LINES	LF						
0049	702048M	420.000	29.00000	12,180.00	35.00000	14,700.00		
LOOP DI	ETECTOR	LF						
0050	704200M	2.000	184,470.00000	368,940.00	150,000.00000	300,000.00		
WIM RO	ADWAY DEVICES 6 LA	ANES U						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 **District(s):** S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

	o / Item ID escription		(1) ASPHAL SYSTEM		(2) SOUTH STATE INC			
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0051	MME078M	1.000	13,920.00000	13,920.00	7,000.00000	7,000.00		
IMAGINO CAMERA	DETECTION SYSTEM,	1 U						
0052	MME079M	1.000	23,360.00000	23,360.00	15,000.00000	15,000.00		
IMAGING CAMERA	DETECTION SYSTEM,	2 U						
0053	MME081M	3.000	37,600.00000	112,800.00	30,000.00000	90,000.00		
IMAGINO CAMERA	B DETECTION SYSTEM,	4 U						
0054	805003M	47,520.000	0.01000	475.20	1.50000	71,280.00		
TURF RE	PAIR STRIP	LF						
0055	806006P	15,840.000	0.01000	158.40	1.00000	15,840.00		
FERTILIZ A-3	ZING AND SEEDING, TY	PE SY						



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

Contract Description: PAVEMENT PRESERVATION CONTRACT, SOUTH - 2013

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC (2) SOUTH		STATE INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0056 809003M STRAW MULCHING	15,840.000 SY	0.01000	158.40	0.01000	158.40		

Section Totals: \$5,236,980.74 \$6,544,059.44



Contract ID: 13420 Counties: BURLINGTON, CAMDEN

Letting Date: May 23, 2013 District(s): S4

Call Order: 420 Project(s): NHP-C00S(470)

Contract Time: 10/31/13 COMPLETION DATE

Contract Description: PAVEMENT PRESERVATION CONTRACT, SOUTH - 2013

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC		(2) SOUTH STATE INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 NON-PARTICII		PATING ITEMS Cat Alt Set:		Cat Alt Member:			
0057 152004P	1.000	5,257.00000	5,257.00	5,000.00000	5,000.00		
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	FOR'S DOLL						
0058 152015P	1.000	6,729.00000	6,729.00	100.00000	100.00		
POLLUTION LIABILITY INSI	URANCE DOLL						
Section Totals:			\$11,986.00		\$5,100.00		
Contract Totals			\$5,248,966.74		\$6,549,159.44		
Cost Plus Time Totals			\$5,248,966.74		\$6,549,159.44		

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Call Order: 420 Contract ID: 13420 Counties: BURLINGTON,

CAMDEN

Letting Date: May 23, 2013 10:00am District(s): S4

Contract Time: 10/31/13 COMPLETION DATE

Contract Description: PAVEMENT PRESERVATION CONTRACT, SOUTH - 2013 Project(s): NHP-C00S(470)

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS INC	\$5,248,966.74	100.00%
2	S6836	SOUTH STATE INC	\$6,549,159.44	124.77%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,